
PLEASE READ THIS BOOK

This operator’s book has important information for the use and safe operation of this machine.  Read this 
book carefully before starting the machine.  Keep this book and tell all operators to read the book.  If you 
do not follow the instructions, you can cause an injury or damage equipment, furniture or buildings.

For new books, please download your copy from our website www.pacificfloorcare.com or write to: 
               Pacific Floorcare
               2259 S. Sheridan Drive
               Muskegon, MI  49442-6252

Carefully inspect all components to ensure that there is no concealed freight damage.  If such damage is 
discovered, file a “CONCEALED DAMAGE REPORT” immediately with the delivering carrier. 

The contents of this manual are based on the latest product information available at the time of                     
publication.  Pacific reserves the right to make changes or improvements without notice.

Thank you for purchasing a Pacific Floorcare product.  Warranty registration will allow us to better 
serve you over the lifetime of the product.  For quick and easy registration,  go to:  

www.pacificfloorcare.com/Register Product.

PARTS & OPERATING MANUAL

AM-3 THREE SPEED 
AIR MOVER



IMPORTANT SAFETY INSTRUCTIONS

READ ALL INSTRUCTIONS BEFORE USING THIS APPLIANCE

When using an electrical appliance, basic precautions should always be followed.

WARNING- To reduce the risk of fire, electric shock or injury:

	 • Use only as described in this manual. Use only manufacturer’s recommended components and attachments.

		  • Use only indoors. Do not use outdoors or expose to rain.

		  • Do not use with damaged cord or plug. If appliance is not working as it should, has been dropped, damaged, left outdoors, or  
		     dropped into water, return it to your Authorized dealer. 

		  • Do not pull or carry by cord, use cord as a handle, close door on cord, or pull cord around sharp edges or corners. Keep cord  
		     away from heated surfaces.

		  • Do not unplug by pulling on cord. To unplug, grasp the plug, not the cord.

		  • Do not handle plug or appliance with wet hands.

		  • Do not put any object into openings. Do not use with any opening blocked; keep free of dust, hair and anything that may  
		     reduce air flow.

		  • Turn off all controls before unplugging.

		  • Do not attempt to service the unit while appliance is plugged in.

		  • Appliance may cause a fire when operating near flammable vapors or materials. Do not operate this machine near  
		     flammable fluids, dust or vapors.

		  • Connect to a properly grounded outlet.

		  • Use only on GFCI protected receptacles.

		  • To reduce the risk of electric shock, connect only to an outlet provided with a ground fault circuit interrupting device.

		  • Do not use an extension cord with this fan.

		  • This unit is thermally protected.

		  • Keep hair, loose clothing, fingers, and all parts of body away from openings and moving parts.

		  • Do not use this dryer with any solid-state speed control device.

		  • Always operate dryer on a stable flat surface such as the floor.

		  • Do not operate dryer without safety devices in place.

		  • Do not allow to be used as toy. Close attention is necessary when used near children.

		  • All repairs must be performed by a qualified service person.

		  • Do not modify the machine from its original design. 
 

2



IMPORTANT SAFETY INSTRUCTIONS

Operating Instructions 

WARNING- To reduce the risk of fire, electric shock or injury; only use dryer as described in this manual.

 
Plug in to a standard outlet with the correct voltage and amperage for the unit.

Place the dryer in the desired operating position. 

Set the switch at the desired speed: low, medium or high.

Check for proper operation before leaving the unit unattended. Do not move or carry the dryer when it is running.

3

For Best Performance 
 
• �Keep machine clean and in good operating condition.  

• �Have machine checked periodically by your Authorized Dealer.

• �Use only authorized service centers for parts or service. 

• �Store machine carefully in dry area.

• �For optimum drying performance and safety, study and follow your  
operators manual. 

3 postion switchUnit in vertical position CAUTION:  Do not stack dry-
ers more than two units high 
without tie-downs

Grounding Instructions 
 
This appliance must be grounded. If it should malfunction or break down, 
grounding provides a path of least resistance for electric current to reduce 
the risk of electric shock. This appliance is equipped with a cord having an 
equipment-grounding conductor and grounding plug. The plug must be 
plugged into an appropriate outlet that is properly installed and grounded 
in accordance with all local codes and ordinances.
This appliance is for use on a nominal 120 volt circuit and has a ground 
plug (see illustration, right). Make sure that the appliance is connected to 
an outlet having the same configuration as the plug. No adaptor should be 
used with this appliance. 

WARNING-  Improper connection of the equipment-grounding  
conductor can result in a risk of electric shock. Check with a qualified 

electrician or service person if you are in doubt as to whether the outlet is 
properly grounded. Do not modify the plug provided with the appliance 
– if it will not fit the outlet, have a proper outlet installed by a qualified 
electrician.

NOTE:  Do not use adapters shown in 
figures B & C in Canada



WARNING- To reduce the risk of fire, electric shock or injury; Do not attempt to service the unit while appliance is 
plugged in. 

 
Periodic Maintenance
1. Check power cord for any breaks, separations or cuts.
2. Make sure the ground pin or grounding prong is intact or the machine will be unsafe to operate.
 
 
Trouble Shooting (if the dryer will not run) 
1. Check electrical cord; is it firmly seated in wall outlet
2. Check GFCI and reset if tripped
3. Check to see if building circuit breaker is tripped.  If circuit is overloaded, move cord to different GFCI outlet.
4. If using an extension cord, make sure it is in good condition, proper gauge and firmly connected.

MAINTENANCE / TROUBLE SHOOTING

4



5

AM-3 AIR MOVER

15

Item #	 Part #	 Description
  1	 224291	 Dryer Housing, Black , Regrind
  2	 223091	 Squirrel Cage, Plastic
  3	 228540	 Intake Panel
  4	 W358D	 Screw, #6 x 1/2”, Black
  5	 225003	 Handle/Wheel Assembly (OPTIONAL)
  6	 962221	 Screw, 1/4-20 x 1 Hex Head (OPTIONAL)
  7	 225201	 Dryer Motor
  8	 227003	 Motor Control Panel
  9	 964012	 Screw  M4x6 Flat Head Phillips
  10	 225045	 Knob, Switch
  11	 W358D	 Screw, #6 x 1/2”, Black
  12	 920015	 Nut, Lock, 1/2” Steel Conduit
  13	 228504	 Strain Relief
  14	 908062	 20’ HD 3 Wire Cord 16/3
  15	 228001	 Switch, 3 Speed
  16	 962017	 Screw 3/8-16 x 1/2” Hex Head
  17	 227491	 Grill, Dryer Discharge
  18	 920031	 Nut 8-32 KEPS
  19	 962337	 Screw, 8-32 x 1 PHIL PAN
  20	 223304	 Foot, Left Dryer Kickstand
  21	 W358D	 Screw, #6 x 1/2”, Black
  22	 225046	 Kickstand, Dryer
  23	 223305	 Foot, Right Dryer Kickstand
  24	 223306	 Foot, Black Rubber
  25	 930015	 Rivet, 3/16 Black
  26	 920009	 Nut, Kep 1/4-20 Zinc (OPTIONAL)



WARRANTY POLICY
AIR MOVER, MODEL AM-3

The Pacific Floorcare AM-3 Air Mover has been manufactured, tested and inspected in accordance with specific engineering 
requirements and is WARRANTED to be free from defects in workmanship and materials as follows:

Five (5) years - Rotomold housing 
One (1) year parts and labor – All other components unless excluded below.

This warranty extends to the original user/purchaser and only when used, operated and maintained in accordance with Pacific  
Operating and Maintenance instructions.

This warranty does not apply to the following wear parts and accessories of the machine including:
	 Part Number 
	     908062
	     228001 

    	     	         
Nor does it apply to damage or failure caused by improper use, abuse or neglect.  Warranty credit or replacement of return 
parts including motors, etc., is subject to incoming inspection of those items.

To secure repair under this warranty, the following procedure should be taken:
•	 The inoperative machine or warranted parts must be delivered to the authorized dealer with shipping and delivery charges 

prepaid.  If unable to locate the Dealer, you may contact Pacific at the address listed herein for the location of the nearest 
Pacific repair center or agent or for other instructions pertaining to your warranty difficulty.

•	 Upon compliance with the above warranty procedure, all warranted repairs would be completed at no additional charge 
or cost to the user.

•	 Only Pacific or its authorized dealers and agents may make no charge warranty repairs on this product.  All others do so 
at their own risk.

This warranty limits Pacific liability to the repair of the product and/or warranted parts replacement and does not include 
incidental or consequential damages arising from the use of a Pacific machine whether defective or not.  

This warranty is in lieu of all other expressed or implied warranties and is extended to the original purchaser/user.

2259 S. SHERIDAN DRIVE
MUSKEGON, MICHIGAN 49442-6252

800-968-1332

FAX  800-863-953612/13

Part Name
Cord Assembly
Switch


